SPRING 2011 Cinco de Mayo Exam #2 KEY
Bonus Q: D

MISCELLANEOUS:

1) C
2) /2 - .035 ->  = .07 -> 
[image: image18.emf] 

 

C.L. = 93%
3) x = 19; y = 20; xy = 110; 
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4A) B
4B) A
4C) D
5) 2-tailed: =/- 2.05
6) 
[image: image3.wmf].
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7) first box plot: Mean Temp, second box plot: High Temp.
8) G
9) s.d. = 1.03, r = -.35, z = -1.03, prob. = .35


10) via z-score Ozzie is at .7486 which he is not in the top .2500; finding x equivalent to 75%, x = 1.3428, so Ozzie again falls below top 25%

CORRELATION & REGRESSION:
11A) r = .9748
11B) b1 = 1.24; b0 = -16.89; equation: y-hat = -16.89 + (1.24)x
11C) Arm Span est. = 66.81 inches

NORMAL DISTRIBUTION:
12A) picture (not shown)
12B) 1002 trees
12C) do not buy
12D) use z-score to determine area to right of 30 is .0668; multiply .0668 * 15000 = 1002 

[image: image1.wmf]\

CONFIDENCE INTERVALS:
13) t-interval; 95%CI = (23 +/- 3.569 125

or  95 % CI = (19.431, 26.569)
HYPOTHESIS TESTS:
Question #1: Iron Deficiency 
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The mean iron level is 18 mg. CLAIM
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The mean iron level is < 18 mg.

Given: 
[image: image7.wmf]_

x

= 14.68 mg           = 18 mg           = 4.2 mg          n = 45           = .01
Left-tailed test
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 = -5.30 (Test Stat.)
Critical Value = -2.33

Conclusion: Reject null hypothesis.  At the  = .01 sig. level the data provide sufficient evidence to conclude that adult females under age 51 are on average getting less than the RDA of 18 mg of iron.





Question #2: Toxic Mushrooms 
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The safe level of cadmium in Boletus mushrooms is .5ppm    CLAIM
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The level of cadmium in Boletus mushrooms exceeds .5 ppm
Given: 
[image: image11.wmf]_

x

= .53 ppm           = .5 ppm           = .37 ppm          

n = 12           = .05
Right-tailed test
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 = .2808 (Test Stat.)
Critical Value = 1.645

Conclusion: Fail to reject.  At the  = .05 significance level the data do not provide sufficient evidence to conclude that the mean cadmium level in Boletus pinicola mushrooms is greater than the government recommended limit of .5 ppm.

Question #3: Acid Rain 
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Lake is acidic if value is 
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 6. 
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Lake is non-acidic if value is > 6.    CLAIM

Given: 
[image: image16.wmf]_

x

= 6.6           = 6          s = ..672          

n = 15           = .05
Right-tailed test
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 = 3.45 (Test Stat.)
Critical Value = 1.761 

Conclusion: Reject null.  There is insufficient evidence at the  = .10 level to conclude that lakes in the Southern Alps are acidic.
Reject
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